Decision of University with reference to questions related queries raised by candidates appeared in the screening test for the posts of Section Officer at

NFSU
Sr | Q Query / Objection Reply to Query Action
No
No

1 1 Incorrect/Ambiguous Question Options in the Answer in MCQ “ Over Valuation” is correct Ignored the query- No action — no change
The term is related to book keeping & Accounting and it is a
part of syllabus.

2 5 All options are wrong There should be minimum 30 credit balance of Earned leave for | Ignored the query- No action — no change
encashment of 10 days
Option “30 days” minimum credit balance of Earned leave is
correct

3 6 Incorrect Answer GPF scheme was terminated and in place of GPF, NPS was made | Ignored the query- No action — no change
mandatory for all new recruits to the Central Government service
from 1st January, 2004

4 7 Incorrect/Ambiguous Question The question is related to administration and not out of syllabus | Ignored the query- No action — no change
question

5 8 Incorrect/Ambiguous Question The question is related to administration and not out of syllabus | Ignored the query- No action — no change
question

6 11 All options are wrong “Unity and Discipline” is correct and not “Unity for Discipline”. dropped the question and calculated

the marks based on 97 questions only
+3 marks for an incomplete question




7 12 Incorrect/Ambiguous Question Answer given in option “Next Day” is correct Ignored the query- No action — no change
Incorrect Answer
Multiple Answers
8 15 Multiple Answers There are two correct Answers — Hence question to be dropped. | dropped the question and calculated
. the marks based on 97 questions only
All options are wrong . .
+3 marks for an incomplete question
9 18 Multiple Answers The C&AG of India undertakes audit which are broadly Ignored the query- No action — no change
categorised as Financial Audit, Compliance Audit and
Performance Audit — Answer is correct
10 |19 Multiple Answers Answer given in the option "number (i) of the statement” is Ignored the query- No action — no change
correct.
11 23 Incorrect /Ambiguous Answer Correct Answer given in options “Impermeable” is correct Ignored the query- No action — no change
12 | 24 Incorrect Answer “The boy took his examination” is correct answer Ignored the query- No action — no change
Multiple Answers The correct statement is: The boy took his examination.
13 | 25 Incorrect Answer The correct Answer : How gentle a person Mr Kapoor is ! Ignored the query- No action — no change
14 | 27 Multiple Answers The correct Answer : "knew” Ignored the query- No action — no change
Incorrect Answer
15 |29 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change




16 | 30 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change
17 | 31 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change
18 | 32 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change
Not get any clue
19 |33 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change
20 | 35 Incorrect /Ambiguous Answer Question & answer is correct and also is a part of syllabus Ignored the query- No action — no change
21 36 Incorrect /Ambiguous Answer “50" is correct answer Ignored the query- No action — no change
22 | 37 Incorrect Answer “Rs 400" is a correct answer Ignored the query- No action — no change
23 | 38 Incorrect /Ambiguous Answer Question No 38 is related to business mathematics and part of Ignored the query- No action — no change
syllabus.
24 | 40 Multiple Answers Correct answer — “"that works with discrete quantities” Ignored the query- No action — no change
25 | 44 Multiple Answers Correct Answer “ Salary is one of the “Revenue Expenses” Ignored the query- No action — no change
Incorrect /Ambiguous Answer Question is related to establishment and administration and Ignored the query- No action — no change
hence is the part of syllabus.
26 | 45 Incorrect /Ambiguous Answer Question is related to general studies, administration and hence | Ignored the query- No action — no change

is the part of syllabus
Question — What are the outstanding expenses?

Answer- Type of expenses that is due but not been paid.




27 | 46 Multiple Answers Both Question and the Answer given in question paper were Ignored the query- No action — no change
. correct
Incorrect /Ambiguous Answer

Question is related to general studies, administration and hence
is the part of syllabus

28 | 48 Incorrect /Ambiguous Answer Question is related to general studies, administration and hence | Ignored the query- No action — no change
is the part of syllabus

29 |57 All options are wrong Question is related to NEP 2020 and answer was within the given | Ignored the query- No action — no change

. options
Incorrect /Ambiguous Answer

Question is related to New Education Policy and hence is the
part of syllabus

30 | 58 | All options are wrong Ramesh PokhrialNishank was the fist education minister of India, | Ignored the query- No action — no change
after renaming Ministry of HRD to Ministry of Education — Given
option is correct.

31 61 Incorrect /Ambiguous Answer According to NEP 2020, the Gross Enrolment Ratio in higher Ignored the query- No action — no change
education is to be raised by "50" percentage. Hence answer is
correct.

32 |67 All options are wrong Answer " 1 Credit = 40 to 45 Hours" is correct Ignored the query- No action — no change

34 |78 Incorrect /Ambiguous Answer Question is related to general knowledge and it is the part of Ignored the query- No action — no change

syllabus.




35 |83 Incorrect Answer The Appeal in case of RTl is be made to Appellate authority and Ignored the query- No action — no change
. not to the PIO. Next / Second Appeal is to be made to Chief
Incorrect /Ambiguous Answer . . . . PP
Information Commission. Hence Answer given is option “CIC" is
All options are wrong correct.
36 |85 Incorrect /Ambiguous Answer The correct answer is - Framing rules for centralised admissions Ignored the query- No action — no change
in all Central Universities and other Institutions of National
Importance
37 | 86 Incorrect /Ambiguous Answer The Option given in the answers “No Age Bar” is correct. Ignored the query- No action — no change
38 | 88 Incorrect Answer Sabbatical Leave is correct Answer. Ignored the query- No action — no change
Incorrect /Ambiguous Answer
Multiple Answers
39 | 91 Multiple Answers University of “ University of Calcutta” is correct answer Ignored the query- No action — no change
40 |92 Incorrect Answer The Answer “ at the rate of half month's emoluments for every Ignored the query- No action — no change
completed six monthly period of qualifying service” is correct.
Incorrect Answer
41 93 Incorrect Answer As per Rule 48A of the CCS (Pension) Rules, 1972, the Ignored the query- No action — no change

government employee may retire from the service after giving 3
months’ notice if he/she completed minimum -"20 years of
service”

Correct Answer is “20 years of service”




Ignored the query- No action — no change

42 97 Incorrect Answer Correct Answer - The Contract Labor (Regulation and Abolition)
Act, 1970
43 | 99 Incorrect /Ambiguous Answer The Question and Answer is ambiguous and may be dropped dropped the question and calculated

Multiple Answers

from Question paper.

the marks based on 97 questions only
+3 marks for an incomplete question

Candidates equal to ten times number of posts advertised will be qualified for main examination




